SOLUTION B FEE—4R 4 EL

Quiz 9 Z:t HEE: 2023/04/26

FAGATH  5HH5 - LR

1. Find the change-of-coordinates matrix from B to B’ and from B’ to B, indicate which is

which, and use it to find the coordinate vector vp with

B=(2*x1), B =(@*-32,2*-3cv+1,0+1), ¥=22"—4z—2

—4 -2 2 1 2 0 —2
Answer: Cgp = % 3 1 -1 , Cpip= -3 -3 1 , Upr= 2 , Up=
-3 -1 3 0O 1 1 —4
2
—4
—2
Solution :
Using
[Mp | Mg] = [T] Cpp]
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2. Let V be a vector space with ordered bases B and B’. If

1 2
Cnp = {0 1}

and U = 251 - 552, find the coordinate vector vp.

Answer: U = { 2 } , Ugr = {_8}
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